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Question 1.  [6 Manks]
The clasmes Gaffa and lunchlfdaffaa beath compils and Bimchféatfea mima withant armar.

Fik on glann tm 111nAtrate acme miatsaben fimi a compenicn to GAYFes claas
1::;1!.': clans Gurfen p:‘:llh: ¢lasa EmnehlHGarfen |
private int num; private Ga¥fes mi;
£ = Inaeyticon point 4 & Sf = Inawtien point C &
public int inevdnmiint incremsnt) { public atatic vold main(String [1 awga)
ff = Inawtien point B o £ w Inaeyticn point O &
retnrn nmm: Garfea[] mam new Cardes(2]:
}} S = Imamrticn point E *
¥
}

Tivaluate the ineertione auggeated below in numerical arder. T ym belisve an ineertien will canae a eom-

pilatian errar, write conpile-time arrar underneath it Ty befieve an ineerticon will compile praperly,
but will canee an errar af mun fime, write mo-time error underneath it T sou befieve an ineertiom wdll

canae nia problem, write akay undarmeath it and make the ineertion. Motics that sinee fou are caoneidering
the ineerhione in mmerical arder, an arlier ineertan may affect our anewer m & later mesrhian.

1. Tneert abawe mesthion paint A:  oume= 05
campile-tima arrar

2. Tneert sbawe maertion peint T int i;
akay

3. Tneert belhwr maerhion peint B! mm= increment + i;

campile-tima arrar

4. Tneert below masrtion paint ! Syetem.out. printlno{"m1 daclared."];
campile-tima arrar
&. Treert ebove maertion paint T iot j= mi.incclum{2) ;

campile-tima arrar

6. Tneert below maertion paint T ma[Fl= new Saffea{);

run—tima arrar
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Question 2. [3 Manxs]

Part (&) [3 wanrs]

HReard the implemantation of the metheod belaw. Which sahies of num will canee is¥aclaft{onum) ta raturm
truaT

a1l add mmbhears from T to AGA5, inclusiwa

pohllie Texslean iaYeeleft{int nomj{
iF {nnm £ TE) L
rebnrn Falaw,

¥
i¥f {nam > ZEE6) |
Yabarn Falaw,

¥
ir ({nmm ¥ Z2) =m Q) |
retnrn Talaew;

¥
et nrn trme !
¥

Question 8. [1 manxs]

Amnme that warda 8 an armay af String, and that mch slement of words reference o String of paAitive
length. ¥Write a cnde fragment: [nat 2 mathod] thet uees & lamp fo afare the leat charecter of words [0] in
String variable initiala, then adde the laat character of sorda[1] ta the end of initiala, and Ao on
until it finally adds the last character of sorda[wards . langth-1] to the end of initiala.

String initialas= "*;
for {int i= 0; i !'= words.langth; i++4) {

initisla = initiala + words[i].subawring{wards[i].langrh{) - 13;
¥

Question 4.  [6 Manus]
Heard the implementation af the methad below. ¥Whak String s retummed by smusah{"fedcha")?

This returna: "bdfaca"

pUElis Atatis SEring amnahSering orig)
m’_“.s mﬁ“’_nr IIII:
For (ine (w0 L lm oewig lemgehil: L4+
iF (L X 2y mmiy ]
EERTEY ingw EERIEYing 4+ orlg. chavae(l):

}
wiaw

DSt ingw orig. ShAVAR{L) + tOpEtring.
}

¥
retwrn topString.
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Question 5. [12 manks)
Part {a) [7 WMaRKS]
¥¥rita the conetructor and aguala methad for the class Pereon belmr.

F** modala a peraan with a pame and waight
*f
public clasa Faraan {
{¢ waight, in kilograma
privata doubla weight;
ff full nama, as a singla Stwring
privata String nama;

f= [3 marka]
* panatructar: creata a new Paraon with weight v and

* [omd o,
*f
public Paraon {dmble w, String o) {
waight= w;
n=ma= n;
}
f+= [& marksl
* equala: retwrn trua if this Parsaon'a weight differa from
* gthar's haight by leas than 0.5 kilograma, AMD if thia
* Paraan'a nams has the asma lapgth as ather's name AMD
*  thay match, charsctear-hy-cheractar, except in {at most) 2
* poaitiona. Far eaxampla "lanny* and "lanyn" bawa tha
* asma length, and they differ in aly 2 positiona {the last 2}.

xf
public hoolasn aguala{Faracn athar) {
if {gther == oull ||
Math.aha{weight - other.weight) »>= 0.5 ||
agthar.nama == null 2 nama !'= onll ||
gther.mama '= null 3 pama == onll) {
raturn falaa;
}
if {ather.nams == null & nama == oull) { ratuwrn trus; }
if {other.namas.langth() !'= nema.length()) { return falaa; }
imt diff= 0;
far {int i= 0; i != nama.langth(); i++) {
if {pama.charit{i) != other.nams.chardt{i}) { diff++; }
}
raturn diff < 3A;
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Part {b) [5 manrks]

Ligt five teat rarm for the aguala method of class Peram. Pes¥le sech tet mas v mggeat, sxplain hoer
each tent care covera an entire cabegoty af peoeAible maes,

1.

R

Twn Fersone with identical names and weighta. Covers all cases with identical elues.

Twn Peraone with idemtiral names and weghta that differ by af leaat (0.5 kiles. Covem all cases where
Feraone ame distingniahad by their a=ght.

. T Peraane with identical weighta and names with diferent lengtha. Covers all raees where Peamans

are detinguahed by the length of thear names,

. Twr Pemrme with weighta that differ by over (.5 Wdlas, and diferent namea. Covers cerm where 1]

valies are diffarent.

. Twm Pamane with identiml] weighta, names of the mme length that differ in af lmat § places. Cover

cases where Permene are distingniahed by checking their names character-by-charactar,

Fage b of & BExn or Trar



